
Iniciar

A = ESESSSSA

B = SSSSSSSS

Conv_AD,
Res olución=10_Bits,
Canal=00, Pin=RA0,

Resultado=lectura_h,lectura_l,
Promedio=4,

Tiempo=1_mse, 

Escalar, Factor=1:0,25,
Origen=lectura_h,lectura_l,

Rango_Org=0..1023,
Destino=valor,

Rango_Dst=0..255,
Tipo=Directa, 

valor =
piro2(valor_cen),

RA3 = 1

5_mse

valor =
piro2(valor_dec),

RA2 = 1

5_mse

RA3 = 0

B = valor

B = valor

RA2 = 0

valor =
piro2(valor_uni),

RA1 = 1

5_mse

B = valor

RA1 = 0

Reg(08)_BCD,
(valor),

Unidad=valor_uni,
Decena=valor_dec,
Centena=valor_cen,

5_mse

repe = D'0'

Reg(08), repe  <
D'100', 

Incr_8, Registro=repe,
Maximo=NO,

Reiniciar=NO,
Bit_Maximo=NO, 

Reg(08), valor  >
D'75', 

Decr_8, Regis tro=valor, 

Reg(08), valor  >
D'93', 

Decr_8, Registro=valor, 

Reg(08), valor  >
D'114', 

Decr_8, Registro=valor, 
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